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NyoIL-y HRERHES " 7 BY) B_EREH4.OtF =] * * * * * * * *
by OIL-IEERES 7 B - ~EER] f_LEESI100tR =] * * * * * * * *
Moo=y [HERES " 7 B - ~KER] B_LEEH120tB B * * * * * * * *
by OIL-IEERES 7 B - ~EER] f_LEEI160tR =] * * * * * * * *
by IIL-I B ARES T B - ~EEE] R LEESI200tH =] * * * * * * * *
by DIL-o [ R#EY " 7 B ] f_LEESI360tH =] * * * * * * * *
II7V=YH-I [CRIEARHEY 7 BY - ~EEE - HE R (~2iR)] B LEEN4.9tF =] * * * * * * * *
FIFV=IH-I[CHERHES" 7 BY - ~EER - BB (~1R)] LN 7tR =] * * * * * * * *
II7V=YH-I [CRIEARHEY 7 BY - ~EEE - HE R (~2iR)] m_LEEN16tR =] * * * * * * * *
37b-Y9b-I[EEARHES" " BY - ~MKER - R B (~2IR)] m_ERESI20tH H * * * * * * * *
IITV=YHV-I CRERES 7 B - ~RER- HEEL(~2011)] | LEEH25tR =] * * * * * * * *
3I7b-Y9b-Y[EEARHES" 7" BY - ~MKER - R B (~2IR)] m_ERESI35tH H * * * * * * * *
IITV=YH-I [CRIEARHEY 7 BY - ~EEE - HE R (~2iR)] m_LEES50tR =] * * * * * * * *
S7b-Y9b-I[EEARHES" 7" BY - ~MKER - R B (~ 1IR)] m_EBES10tH H * * * * * * * *
II7V=YH-I [CRIEARHEY 7 BY - ~EEE - B R (~1R)] R LEEH45tR =] * * * * * * * *
F7b-Y9b-I[EEARAES" 7" BY - ~MKER - R B (~2IR)] m_EBESI60tH H * * * * * * * *
377V-YIb -y [EERES " 7" B - ~ERER - HEEL(~21R)] m_LREH70tH =] x(@) (@) x(@) (@) *x(®) *x(®) *x(®) x(®)
0-39b-YEEBRENTNIAVF - 5FRY" 7" - ~MAREE - HE(~1R)] m_ERESI35tH B - - - - - - - -
I0-39b- RIEBRENTNI4VF - FFAS" T - KSR - HE(~2IR)] m_LEEH40tR H - - - - - - N N
0-39b-IEEBRENTNIAVF - 5FRY" D" - ~MAREE - HE(~2)R)] m_EBESI50tH H * * * * * * * *
I0-39b- RIEBRENTNI4VF - FFAS" T - KSR - HE(~2IR)] B _LEEH 100t =] * * * * * * * *
0-39b-IEEBRENTNIAVF - 5F RV D" - ~MAREE - HE(~2)R)] m_EBESI55tH H * * * * * * * *
I0-39b- REBRENTNI4F - 5FAS" T - KSR - HE(~2IR)] R LEEH65tR =] * * * * * * * *
I0-39b- [ REBRENTNI4F - 5FAY" T - MARER - HE(~2IR)] f_LEESI200tH =] * * * * * * * *
I0-39b-RIEBRENTLI4F - 5FAS" T - KSR - HE(~2IR)] m_LEEH8OtR =] * * * * * * * *
0-39b-IEEBRENTNIAVF - 5FRY" D" - ~MAREE - HE(~2)R)] m_ERESHI150tHm H * * * * * * * *
I0-39b-Y[EREY " 7 B - ~RER - HEXG (~3R)] B_LEEH4.0tF B * * * * * * * *
FENFEEAE[ D BREN - ~KER - BB (~21K)] EIE=8kva B * * * * * * * *
FEBFEEME DBRE) - ~KBE - HEWBL(~2R)] EISBE10kva =] * * * * * * * *
FENFE[ DEFE) - ~BIK - HEEY(~31R)] EARSE=15kva H * * * * * * * *
FEBFEEME DERE) - ~HBIK - HEEL(~3R)] EARE=20kva =] * * * * * * * *
FENFE[ DEFE) - ~BIK - HEEY(~31R)] EARSE25kva H * * * * * * * *
FEEFEEME[ DERE) - ~IBIK - HEEL(~1R)] EISBE35kva =] * * * * * * * *
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FEFE[ DEFE) - ~BIK - HEWEY(~31R)] EARS245kva =] * * * * * * * *
FEBFEEME DERE) - ~BIK - HEEL(~3R)] EARB=260kva =] * * * * * * * *
FENFE[ DEFE) - ~BIK - HEEY(~31R)] EARBE=75kva =] * * * * * * * *
FEEFEEME DERE) - ~BIK - HEEL(~3R)] EASEE100kva =] * * * * * * * *
FENFE[ DEFE) - ~BIK - HEEY(~31R)] EAZBE125kva =] * * * * * * * *
FEBFEEME DERE) - ~HBIK - HEEL(~3R)] EASEE150kva =] * * * * * * * *
FENFEEAE[ D BREN - ~KER - BB (~21K)] EI8E=200kva B * * * * * * * *
FEBFEEME DERE) - ~K5E - HEWBL(~2R)] EASEE250kva =] * * * * * * * *
RENFEEAE[ D BREN - ~KER - BB B (~31K)] EI8E=300kva B * * * * * * * *
FEBFEEME DERE) - ~KBE - HEBL(~21R)] EZEEZ350kva =] * * * * * * * *
RENFEEAE[ D BREN - ~KER - BB B (~31K)] 8B =400kva B * * * * * * * *
HENVFEH GEFEN - VKRS R EIRESE2kva B * * * * * * * *
RENVFAE GEFE - ~RERZEY] EIES=3kva B * * * * * * * *
RENFEEH[ D BREN - ~EERZEL) EEEE5kva =] * * * * * * * *
HEFREH[ DEIH KRS - HBE(1R)] EZS=8kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EISBE10kva =] - - - - - - N N
HEFREH[ DEIH KRS - HBE(1R)] EAZSE15kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EISBE20kva =] - - - - - - N N
HEFEH[ DEIH KRS - HBIE(1R)] EARSE25kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EISBE35kva =] - - - - - - N N
HEFEH[ DEIH KRS - HBE(1R)] EIRB245kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EISBE60kva =] - - - - - - N N
FHEFEH[ DEIH) KRS - HBE(1R)] EARBE=75kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EASEE100kva =] - - - - - - N N
HEFREH] DEIH KRS - HBE(1R)] EAZBE125kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EASEE150kva =] - - - - - - N N
HEFREH[ DEIH KRS - HBE(1R)] EAZEBE200kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EASEE250kva =] - - - - - - N N
HEFREH[ DEIH KRS - HBE(1R)] EAZEBE300kva =] - - - - - - N N
FEBFEEM[ DERE) KRS - HEWEL(1IR)] EASEE350kva =] - - - - - - N N
HEFREH[ DEIH KRS - HBE(1R)] EAZEBE2400kva =] - - - - - - N N
ZEQUENBHE[ATARC - I3 VBRED - ~BAK - HEXS (~2)R)] ItH&E2.0m3/min 0.7MPa =] * * * * * * * *
ZERUEABHE[ETAETS - 103" VBRED - ~#BIK - HEXS (~2)R)] ItH&2.5m3/min 0.7MPa H * * * * * * * *
ZEQUEMBHE[ATARC - I3 VBRED - ~BAK - HEXS (~2)R)] It &E3.5~3.7m3/min 0.7MPa =] * * * * * * * *
ZERUEABHE[BTRET - 103" VBRED - ~#BIK - HEXS (~2)R)] ItH&5.0m3/min 0.7MPa H * * * * * * * *
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ZERUEARHE[PIART - 105 VERED - ~BIK - HEXT (~2)R)] tH=E7.5~7.8m3/min 0.7MPa [=] * * * * * * * *
ZE LR AIAST - T0Y " VB ED - ~IBIK - HEXT (~2)R)] I+#E10.5~11.0m3/min 0.7MPa B * * * * * * * *
ZERUEABHE[ ARSI - 103" VBRED - ~EER - HEXS(~2)R)] ItH&E14.2m3/min 0.7MPa H * * * * * * * *
2R AIAST - Ty VB ED - ~EKER - HEXT (~2)R)] ItH&17.0m3/min 0.7MPa =] * * * * * * * *
ZERUEARHE[PIART - 10 VERED - ~EKEE - HEXT (~2)R)] I+#=18.0~19.0m3/min 0.7MPa H * * * * * * * *
ZEQUEMEHE[EIARC - Iy VBN ED KBRS - BRI R (1R)] It E2.0m3/min =] - - - - - N N N
ZERUEMEE ATARC - 10y VBN ED - RERES - HERY(1R)] It &E2.5m3/min =] - - - - - - N N
ZEQUEMEHE[ETARC - Iy VBN ED KBRS - BRI R (1R)] It &E3.5~3.7m3/min =] - - - - - - - -
ZERUEMEE [ ATARC - 10y VERED - RERES - HETRY(1R)] It &ES.0m3/min =] - - - - - - N N
ZEQUEMEHE[ETARC - Iy VBN ED KBRS - BRI R (1R)] It &E7.5~7.8m3/min H - - - - - - - -
ZERUEMEE[ ATARC - 10y VBN ED - RERES - HERY(1R)] It &E10.5~11.0m3/min =] - - - - - - - -
ZEQUEMEHE[ETARC - Iy VBN ED KBRS - BRI R (1R)] It E14.2m3/min =] - - - - - N N N
ZERUEMEE[ ATARC - 10y VBN ED - RERES - HE R (1R)] It E17.0m3/min =] - - - - - - N N
ZEQUEMEHE[ETARC - Iy VBN ED KBRS - BRI R (1R)] 1t+&18.0~19.0m3/min H - - - - - - - -
ZERUEABHE[BTRT - 103" VBRE) - ~EKER - BEXTBY(~3IR)] ItH&15m3/min 1.05MPa H * * * * * * * *
ZEQUE M eI - E-9-BFED ) MtHE2.2m3/min B * * * * * * * *
ZE B[ PR - £-5-BRED ] IHHE3.7m3/min B * * * * * * * *
ZEQUE M TS - E-9-BFED ) MtHE5.2m3/min B * * * * * * * *
ZERUEHEHE[ TS - E-5-BFED] ItHE6.0m3/min B * * * * * * * *
ZEQUE M eI - E-9-BFED ) 1t+£9.0m3/min B * * * * * * * *
IRBND-5[HEFRTL- 9U7 hBYL - ~RER - HEWEY(~2)R)] HE2.4~2.8t =] * * * * * * * *
IREND-S [T - 407 hBL - ~KER - HEWBY(~2)K)] HB&E3.0~5.0t B * * * * * * * *
IREND-5[#EFL- VNV BL- HEBY( 1R - 2R)] H&E3.0~4.0t [=] - - - - N - N N
HREND-5 [T - AV B - ~RER - HE B (~30K)] B&E3.0~4.0t B * * * * * * * *
HREND-[OM B4 ] B=0.5~0.6t H * * * * * * * *
HREDD-S[)OM M K] B50.8~1.1t B * * * * * * * *
HREND-5(ETA)[I79 000" WM FLEL - KSR - BE(~3IR)] BE11~12t H * * * * * * * *
AAVO—S[~BIK-HEgE - (~2011)] BE8~20t B * * * * * * * *
L vO—S[~iBK - B8 - (~3R)] BE3~4t B * * * * * * * *
BAYO—S[~AKEE- PR - (~201146484))] BHE13t =] - - - - - N N N
O— RO-3[YHEF L ~iBIK - HEd8(~2)K)] BE10~12t HEHIE2.1m H * * * * * * * *
FAIPIRIAZy o0 [A-NBY - ~KER - HEXIBY (~2014)] SHEEIE1.4~3.0m B * * * * * * * *
FAIPIRIAZy S0 [ - I BY - ~{EEE - HEXTBY (~2014)] EHRE2.3~6.0m =] * * * * * * * *
97 -5 [T - HEBE B (~2K)] 7°V-M1&E3.1m B * * * * * * * *
TERKFRT (BRI 0% 50mm =£BIE 10m B * * * * * * * *
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TER/KFRT (BRI A% 50mm 2B 15m =] * * * * * * * *
TERKFRT (BKRTS) OF100mm 281 10m =] * * * * * * * *
THERAKFRT (BKRT) O%100mm 2B 15m =] * * * * * * * *
TERKFRT (BKRTS) O%E150mm 2B 10m =] * * * * * * * *
TERKFRT (BRI O%150mm 25 15m H * * * * * * * *
TERKFRT (BKRTS) O%E200mm 28 10m =] * * * * * * * *
TERKFRT (BRI O%200mm 25 15m H * * * * * * * *
AEEMERLE [ J0-78Y - IV - VBT ] BEHEE 1.7t 1t B * * * * * * * *
AEEMEMER [ 0-58 - )L~V aiE ] BHEE 2.0t 1tB =] * * * * * * * *
AEEMERLE [ J0-78Y - IV - VBT ] EHEE 2.5t 2tB =] * * * * * * * *
AEEMEMER [ 0-58 SHEY" V7° T - HE B (~21R)] BHEE 2.0t =] * * * * * * * *
AEEIEWER [J0-58 SHEY V7° T - BB B (~23K)] EHEEE 2.5t = * * * * * * * *
J54>245 - 180mm H 1,000 1,000 1,000 1,000 1,000 1,000 1,000 0.65
NATHvE - H 1,620 1,620 1,620 1,620 1,620 1,620 1,620 0.65
Iy he—% 126MJ/h H * * * * * * * *
D NBE IR 6t 1R H | 180,000| 180,000 180,000( 180,000( 180,000| 180,000| 180,000 1.0
UJ hBE J\>OR 15t 1R H | 198,000( 198,000| 198,000| 198,000| 198,000| 198,000 198,000 1.0
D NBE I\ 15t 2 Fth H | 198,000| 198,000| 198,000( 198,000( 198,000| 198,000| 198,000 1.0
UJ hBE J\>OR 25t 2 it H | 206,000( 206,000| 206,000| 206,000| 206,000| 206,000| 206,000 1.0
BRUBIEM [ 4-T I3 F] ELET 300A =] * * * * * * * *
HT RSy o[A>O-R - Fo—tIL] 4 t 1ER H * * * * * * * *
TEATVESEER (MY 5T - T -hEY) TRILT v$917° VEZERS 10~ 12mKis = * * * * * * * *
EfkBiEkes (FR P MEMA) 900mm H 7,000 7,000 7,000 7,000 7,000 7,000 7,000 1.0
EfxBiis&ss (FR P MEM) 1000mm H 7,900 7,900 7,900 7,900 7,900 7,900 7,900 1.0
EfkBiskes (FR P MEMA) 1100mm H 8,500 8,500 8,500 8,500 8,500 8,500 8,500 1.0
EfxBiiskss (FR P MEM) 1200mm H 9,100 9,100 9,100 9,100 9,100 9,100 9,100 1.0
EfkBiiskes (FRPMEMA) 1350mm H 9,800 9,800 9,800 9,800 9,800 9,800 9,800 1.0
EfxBiiskss (FR P MEM) 1500mm B 10,500 10,500 10,500 10,500 10,500 10,500{ 10,500 1.0
EfkBiiskes (FRPMEMA) 1650mm H 15,000| 15,000 15,000 15,000 15,000f 15,000 15,000 1.0
EfxBiiskss (FR P MEM) 1800mm H 16,000| 16,000 16,000| 16,000 16,000 16,000 16,000 1.0
EfkBiskes (FR P MEMA) 2000mm H 17,200 17,200 17,200| 17,200 17,200{ 17,200 17,200 1.0
EfxBiis&ss (FR P MEM) 2200mm H 19,000f 19,000 19,000 19,000 19,000/ 19,000f 19,000 1.0
EfkBiskes (FR P MEMA) 2400mm H 21,000 21,000( 21,000/ 21,000( 21,000/ 21,000{ 21,000 1.0
EfxBiis&ss (FR P MEM) 2600mm H 22,500 22,500] 22,500| 22,500 22,500 22,500 22,500 1.0
EfkBiiskes (FRPMEMA) 2800mm H 24,500| 24,500 24,500| 24,500 24,500| 24,500 24,500 1.0
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BB (FRPMER) 3000mm B 26,000 26,000 26,000 26,000( 26,000( 26,000( 26,000 1.0
EfkBiiRas (DCI PEHR) 900mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EfBERRE (DCIPER) 1000mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EfkBiiRas (DCI PEHR) 1100mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EfBERRE (DCIPER) 1200mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
EfkBiiRas (DCI PEHR) 1350mm =] 8,000 8,000 8,000 8,000 8,000 8,000 8,000 1.0
BB (DCIPER) 1500mm =] 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EfkBiiRas (DCI PEHR) 1600mm =] 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
BB (DCIPER) 1650mm =] 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EfkBiiRas (DCI PEHR) 1800mm =] 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
BB (DCIPER) 2000mm =] 9,500 9,500 9,500 9,500 9,500 9,500 9,500 1.0
EfkBiiRas (DCI PEHR) 2100mm =] 11,000/ 11,000| 11,000| 11,000| 11,000/ 11,000| 11,000 1.0
EfBERRE (DCIPER) 2200mm =} 11,000/ 11,000 11,000| 11,000 11,000 11,000 11,000 1.0
EfkBiiRas (DCI PEHR) 2400mm =] 11,000/ 11,000| 11,000/ 11,000| 11,000/ 11,000/ 11,000 1.0
EfBERRE (DCIPER) 2600mm =} 11,000/ 11,000 11,000| 11,000 11,000f 11,000 11,000 1.0
N yoio[90-78L - ~ B - HERIBY(~3IR)] BREN ybEE 1UFE0.28m3 (F#E0.2m3) B * * * * * * * *
N yoiRo[0-78L - ~ MR- HE B (~30R)] RNy bEE 1UFE0.45m3 (F1E0.35m3) =] * * * * * * * *
N yoio[90-78L - ~HBIR - HEXIBY(~2011)] BN JybEE 11A§0.5m3 (F480.4m3) B * * * * * * * *
N yoio[0-72 - BEd R (1R - 20R)] RNy bEE 1UFE0.8m3 (F450.6m3) H - - - - - - - -
N yoio[90-78L - ~EBMER - HEXIBY(~2011)] BREEN jybEE 111A50.8m3 (F450.6m3) =]
N yiRo[0-528 - 18 758/ \HEmI B - ~vEBR - BE(~2014)] RNy bEE 1UFE0.28m3 (F1E0.2m3) H
N yIRI[90-3 - #8758/ IBEE] - ~BAK - HER B (~31R)] BREEN rybEE 1UFE0.45m3 (F4E0.35m3) =]
N yhiRo[n-78 - REEE - HE (1R - 2R)] BREN ybEE 1UFE0.28m3 (F1E0.2m3) H - - - - - - - -
N yhio[h0-78 KBRS - XS BY(1IR - 20R)] BREEN rybEE 1UFE0.45m3 (F4E0.35m3) =] - - - - - - - -
N yoR9[o0-78L - B /KBRS - I BY (1R - 21k - 3IR)] RNy hEE 1UFE0.5m3 (F450.4m3) H - - - - - - - -
N yhio[h0-78 KBRS - HEX BY (1R - 20k - 3IR)] BREEN JybEE 111A50.8m3 (FF450.6m3) =] - - - - - - - -
N yoR9[o0-78L - BBREEE - HEWBL (1R - 2)R - 3IR)] BREN yhEE 1UFE0.8m3 (F450.6m3) H - - - - - - - -
ICTA yIR9[90-78 - Jb-y - ~ MK - HFXJBY(~2014)] BREN ybEE 1LFE0.8m3 (F4850.6m3) MAEESI2.9t =] *
NBIC Y9 0-7 8 - B B EE - ~MRER - HEEL(~V3IR)] [Ny MEE IUAR0.22m3 (FFE0.16m3) H * * * * * * * *
By IR [H0-58 - B/ ) iR E B KBRS - BRI L (10R)] BREN ybEE 1UFE0.22m3 (FF#E0.16m3) =] - - - - - - - -
/NEIBH[YD-5 - #&75#8/)ViEE] - V- ~BIR-HE(~3R)]  [BRENyybEE 1UFR0.09m3 (FFE0.07m3) mEES0.9t =] * * * * * * * *
N yoRI[90-58L- hh-y - ~KER - HEXIBY(~3IR)] BREEN ybEE 1UFE0.28m3 (F#E0.2m3) MEESIL.7t H * * * * * * * *
Ny o0-38L - Hu-> - ~EBIK - HEXd B (~2011)] REN yybEE 1UFE0.45m3 (F480.35m3) mAESI2.9t B * * * * * * * *
N yoRI[90-58L- hb-y - ~EBIK - HEXIBY(~2014)] BREN ybEE 1UFE0.5m3 (FFH80.4m3) mAEeSH2.9t H * * * * * * * *
Ny o0-38L - Ju-> - ~EBIK - HEXdEY(~2011)] BREN ybEE 1UFE0.8m3 (F480.6m3) MHEES2.9t B * * * * * * * *
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N yhR9[90-58S - 5B/ KIS - S~ - ~EBIE - HE(~30R) ] =)y NS E 1UAR0.45m3 (F480.35m3) REES2.9t [S] - - - - - - - -
N yhRI[90-58L - - IHEREAT KBRS - BEWEL(1IR - 2)R)] =)y VS8 1UAB0.45m3 (FAE0.35m3) REEH2.9t =] - - - - - - - -
N yoho[o0-58 - Jl-Vkelt - BIRER S - HEWEL(1-31R)] ANy NS E 1UAR0.45m3 (F4850.35m3) MHESI2.9t =] - - - - - - - -
N yoio[o0-32L - Hl-VRRedt - BB/ 1RER S - HEx (1-3)%)] =)y VS8 1LIAR0.8m3 (F4E0.6m3) BHEES2.0t =] - - - - - - - -
INBIN Y9 [H0-5BY - ~BIR - BB BY (~3R)] ZH#)\ y b E 1UFE0.11m3 (F4E0.08m3) =| * * * * * * * *
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